Module 8 Review~ No Graphing Calculator

H. Algebra 2 _
Name: KU’\ Date: Hour:

1. Tell the transformations that have been applied to the. graph of f(x) == to produce the graph of
g(x), then find the asymptotes and domain and range and sketch the graph of g(x). ( \ - ) |
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For 2-3, rewrite the function in g(x) = a (Ex_if)) +kor g(x)=
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slgetch' the graph of g(x).
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5. Identify all vertical asymptotes and holes of each rational functlon -Then state its domain.

x=1 _ x-1
—3x* +27 ﬁ{u ::‘%“

A)F(x)=

Vertical Asymptotes: ¥ :i

- ;ME\—,‘

a5
£

NS

B) f(x)=~

3)(+4

x* +2x g’
"

Vertical Asymputotes- ﬁf = Z?

()mi f}( -] >
0SS

Holes: A/ e Holes: % - { %“
- _ ” ;“’
Domain: 2t | w -~ =, Domam an *? ''''' e 5

7. ldentify the asymptotes, holes, y- intercepts and x-mtercepts of each rational
function. Then graph the function.
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